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QUESTION 1

Which three applications use IPsec? (Choose three.)
A. PDN access

B. MAP

C. GTPv2

D. Mobile IP

E. L2TP between GGSN acting as LAC and LNS

F. L2TP between LAC and LNS on same node

G. Diameter

Correct Answer: ADE

QUESTION 2

According to RFC 4006, for which two purposes is Diameter Control Credit Application designed? (Choose two.)
A. authentication and authorization of access

B. real-time content charging

C. credit card payment authorization online

D. credit authorization of prepaid users

E. billing for postpaid users

F. IMS core authorization

G. collection of user statistics

Correct Answer: BE

QUESTION 3
How does an S4-SGSN identify a peer node as an SGSN or MME when GUTI-to-RAI mapping is unavailable?
A. MSB of the LAC value

B. MSB of the RAC value
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C. LSB of the LAC value
D. LSB of RAC value

Correct Answer: A

QUESTION 4

Which two nodes are introduced as part of UMTS as defined by 3GPP standards? (Choose two.)

A. SGSN
B. GGSN
C.RNC
D. VLR
E. NodeB
F. VLR

Correct Answer: CE

QUESTION 5

Drag the interfaces on the left to match the criteria for GTPv2 control planes on the rght.

54

The TEID-C shall be unique per PDN-connection.
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Select and Place:

There skall be only ane pair of TEID-Cs per UE
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Dirag the interfacas on the left to match the criteria for GTP2 control planes on the raght ‘

54 The TEID-C shall be unique per FDN-connection.

‘ 53 ‘ There srall be only one pair of TEID-Cs per UE.

fal
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53
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Correct Answer:

Drag the interfacas on the left to match the criteria for GTPv2 control planes on the rght. ‘

The TEID-C shall be unique per PDN-connection.

| |

| |

There skall oe only one pair of TEID-Cs per UE
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